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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-7_0
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P3-7

BrE) | GEBATK (F) | EHRE(EH/AR) | EREE (G/R) [ KR EX

06:55 283 150.0 2.583 |Z=| FnHR@06:55 KEHIEFE (REMERESE)
07:50 283 150.0 2.583 (£ x| FhHAQO7:50 KENFEF (RAfEEIER)
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09:55 283 150.0 2.583 (& =| ThHA@D9:55 KENFEF (RAfEEE:E)
10:50 283 150.0 2.583 (Z=| FhHA@10:50 KENFEF (RA{EEEE)
11:40 283 150.0 2.583 FA| FnHA@11:40 KRFEF CRAERS)
12:30 283 150.0 2.583 BH| FhHA@12:30 KR4H1F2F (RAHEREE)
13:20 283 150.0 2.583 FA| hHR@13:20 RFMIZHF (CRALESR)
14:10 283 150.0 2.583 FA| FHA@14:10 KREEF (KREAEHKS)
15:05 283 150.0 2.583 |/\FE| FnHA@15:05 REIEF (KREERSE)
16:10 283 150.0 2.583 [/\fi| TnHR@16:10 KREIEF (KREEZERE)
23t 3113.0 (110%) 1650. 0 32 PUFKEC: 2200, PH: 6.0

FREVEN S Kt i%PH 6. 005
REE NS KIFHIKEC 2200. 0
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P3-7_0, Day=77 (2025-06-14)
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P3-7
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P3-7

BFE) | GEBATK () | s (ERH/#F) | EREE (B/R) | X5 R
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P3-7_0, Day=75 (2025-06-12)
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P3-7

BYiE) | EBAK (R | EHE (EAR/HK) | ERERE (B/R) | XK R

06:30 283 150.0 2.583 & 1Rie06:30 B (KREERE)
07:10 283 150. 0 2.583 E BRi&e07:10 Bzl (GRAERSE)
08:40 283 150.0 2.583 5| {Ri%@08:40 Bz (FAAMERSE)
09:40 283 150.0 2.583 = {Rig@09:40 B3 (RAERSE)
10:30 283 150.0 2.583 = RRi8010:30 Bzh (REAEEE)
11:15 283 150. 0 2.583 =l Rige11:15 Bz (GRAEESE)
11:55 283 150.0 2.583 =l {Rige11:55 B3 (RAERSE)
12:35 283 150.0 2.583 S| {Rige12:35 B (REAERSE)
13:10 283 150. 0 2.583 E| {Rig@13:10 B3h (RE{ERSE)
13:45 283 150.0 2.583 F BRige13:45 Bz CGRAERSE)
14:25 283 150.0 2.583 S| {Rige14:25 B3 (REAERSE)
15:05 283 150. 0 2.583 E BRige15:05 Bz (GRAERESE)
15:50 283 150.0 2.583 F[ BRige15:50 Bz (GRAERRE)
16:45 283 150.0 2.583 = 1Rig016:45 B3 (REAERSE)
H2it]3962.0 (14)%) 2100.0 EGHKEC: 2200, PH: 5.8

RN E STEAERT (182.0 : 150.0), AIgEMF—RE XAH45
2RI\ EPRERE150. 0 ml.

RBEVE WS KHBPH 5. 77, BTHERNAZIFEIEEPH, 5F3hiA%
FH[EHECE (1847.0 vs 3683.0) 145

FRBIFE NS R IFEREC 2200. 0



ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=74 (2025-06-11)
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Warning: lcol [FVI',| "FVO’'] missing

Warning: lcol ["WC1',  "WC2'] missing

optEC0=3000. 0, setECB=2200

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=5. 8

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-7

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS EE

06:15 283 150.0 2.583 S| {Rige06:15 Bz (RAERSE)
07:00 283 150. 0 2.583 E BRi&e07:00 Ba1 (RAERRE)
07:45 283 150.0 2.583 F BRi%e07:45 B CGREERE)
09:00 283 150.0 2.583 =l {Ri%@09:00 B (RAAERSE)
10:10 283 150. 0 2.583 F BRige10:10 Bz (CGRAERESE)
11:05 283 150.0 2.583 S {Ri%e11:05 Bz (GRAERSE)
11:55 283 150.0 2.583 =l {Rige11:55 B (GRAERSE)
12:40 283 150. 0 2.583 E BRige12:40 Bz CGRAERESE)
13:20 283 150.0 2.583 5| {Ri%e13:20 B3 (RAERSE)
13:55 283 150.0 2.583 = {RRiB013:55 B (RFAKESE)
14:40 283 150. 0 2.583 E BRige14:40 Bz CGRAERESE)
15:30 283 150.0 2.583 5| {Ri%e15:30 B3 (RAERSE)
16:30 283 150.0 2.583 =l RRiB016:30 B (RFAEEE)
23t 3679.0 (13%) 1950. 0 FHIKEC: 2200, PH: 5.6

RN E STEAERT (182.0 : 150.0), AIgEMF—RE XAH45
2RI\ EPRERE150. 0 ml.

FRBVEW S RFHRPH 5.6, HTHEAEHAZEEEEEPH, 5F A%
#[EKECE (1887.0 vs 4023.0) 5

REVE WS K iKEC 2200. 0



150 Fm—————F——————F——————F-—————F-—————F——————F——————F——————F——————F——————fF——————F—= ]
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2400 400 o
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Warning: lcol [FVI',| "FVO’'] missing
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Warning: lcol ["WC1',  "WC2'] missing
0.0
o5 | OPtEC0=3000.0, setECB=2200 t
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0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
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o | OPtPHO=6.5, setPHB=5.6 t
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0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-7_0, Day=73 (2025-06-10)
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